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1. To start a partnership business, what should be the minimum number of partners?
A)2

B) 10

C)4

D) 20

Answer: A

2. What type of agreement is used to form a partnership business?
A) Written agreement

B) Oral agreement

C) Written or oral agreement

D) None of them

Answer: C

3. In partnership, partners liabilities are

A) Unlimited

B) Limited to the capital of the business

C) Limited

D) Both Aand C

Answer: A

4. |s a partnership firm examined as an individual a legal entity?
A) No

B) Yes

C) Partially Yes

d) partially no

Answer: A

5. What is the partnership written agreement known as?:

A) Partnership written contract



B) Agreement

C) Partnership deed

D) Partnership Act

Answer: C

6. If no partnership agreement, what will be the percentage of profit sharing ratio between them?
A) Unequal

B) Equal

C) It will depend on the experience of a partner

D) It will depend on a partner’s capital

Answer: B

7. Which is not a feature of a partnership business?
A) Ease of formation

B) Limited liability

C) Limited life

D) Mutual agency

Answer: B

8. Which kind of partnership one partner has unlimited liability and other partner have limited
liability?

A) Partnership-at-will

B) Limited partnership

C) General partnership

D) Particular partnership

Answer: B

9. Which types of partnership have no agreement in terms of the duration of partnership?
A) Partnership-at-will

B) Limited partnership

C) General partnership

D) Particular partnership

Answer: A

10 .Under Section 2(b) of the Indian Partnership Act, ‘business’ Includes

(a) every trade and occupation



(b) every occupation and profession

(c) every trade, occupation and profession
(d) every trade and profession

Ans.C

11. State which of the statements is true?
(a) Partner is an agent of the firm

(b) Partner is owner of the firm

(c) Partner is director of the firm

(d) None of the above

Ans.A

12. What is a partnership at will?

(a) Created under a will by testator

(b) Created by consent of all partners

(c) Partnership without provision for duration
(d) None of the above

Ans.C

13. Which of the following is a strong but not sufficient test of
partnership

(a) sharing of profits

(b) sharing of losses

(c) either of the two



(d) none of the above

Ans.A

14. A partnership firm is

(a) a distinct legal entity from its partner

(b) not a distinct legal entity from its partner

(c) ajuristic person

(d) None of the above

Ans.B

15. A partner can retire by notice of intention to retire, where
(a) the partnership is at will

(b) the partnership is for a specified period

(c) where a contract has been made between the partners for its
determination

(d) none of the above

Ans.A

16. Where a partnership firm is constituted a fixed period and after
the expiration that term the firm continues to carry business without
any agreement

A) the partnership stands extended till the new agreement is made

B) The partnership becomes the partnership at will



C) The partnership becomes illegal

D) the partnership stands dissolved on the date of the expiry of the
term and no partnership can be said to be in existence

Ans.B

17. As per Section 5 of the Indian Partnership Act, the relationship of
partnership is created by:

a) Status

(b) Contract

(c) Statute

d) None of the above

Ans.B

18. Partnership” means

(a) joint venture

(b) agreement between the persons to share the profit of a business
carried on between them

(c)agreement between the persons to do some work

(d) none of the above

Ans.B

19. Which of the following is not an essential requisite for creating a
partnership as per Section 4 of the Partnership Act?

a) An agreement to carry on a business



(b) Sharing of profits

(c) Sharing of losses

(d) Business to be carried by all or any of them acting for all

Ans.C

20. Which of the following is a valid partnership?

a) Partnership between two partnership firm

(b) Partnership between one partnership firm and an individual

(c) Partnership between individual members of one firm and the
individual members of another firm

(d) Neither (a) nor (b) nor (c).

Ans.D

21. Goodwill of a partnership business is the property of the
partnership

(a) Under Section 14

(b) Under Section 13

(c) Under Section 12

(d) Under Section 11

Ans.A

22. Under Section 10, every partner has a duty to indemnify the firm
for any loss caused to the firm by his the conduct of the business of

the firm.



(a) Negligence

(b) Wrongful act
(c) Fraud

(d) All of the above

Ans.C

23. General duties of partners have been laid down in
(a) Section 9 of the Act

(b) Section 10 of the Act

(c) Section 11 of the Act

(d) Section 13 of the Act

Ans.A

24.An LLP is a Body Corporate.

A) True

B) False

C) AorB

D) None of the above

Ans A
25. The minimum number of members required to constitute an LLP is

A) 2 members
B) 7 members
C) 3 members
D) No limit

Ans A
26. The maximum number of members that can be A Part of LLP is

A)200 members



B) 50 members
c) No limits
D) 20 members

Ans C

27.An adult as well as a minor can be a partner
A)True

B) False

c)AorB

d) none of the above

Ans B

28 .For every LLP, at least ____ Designated partner(s) shall be appointed.
A) 5
B) 4
C)3
D) 2
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